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Color the rectangle in 4 colors like this:

121212121
343434343

121212121

We have 20 1’s, 16 2’s, 15 3’s, 12 4’s. Let x,a, b, c,d be respectively number of: 2x2 tiles and
L-tiles which don’t contain a field with color 4,3,2, 1. First, it’s easily seen that 3 | x.
Now,x4+a+b+c=20,x+a+b+d=16,x+a+c+d=15,x+b+c+d = 12. This means
that

4x

a+b+c+d:21—?,

henced =21 — 4;_x —20+x=1-— %, so we see that x < 3.
It’s easy to construct examples for x = 0 and x = 3 (for x = 3, put 2 X 2 next to each other in

one row, starting from a corner for example).
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